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Q1. Consider the following Statements Infrastructure Finance Secretariat.

1. The Infrastructure Finance Secretariat will be key to assisting all stakeholders for more private

investment in infrastructure, including railways, roads, urban infrastructure and power.

2. It will be a part of the department of Financial service with the financial service secretary as its head.

Select the correct Statement(s) using the code given below.

a) 1 only

b) 2 only

c) 1 and 2 only

d) Neither 1 nor 2
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Q2. Consider the following statements: (UPSC Prelims 2017)

1. The Factories Act, 1881 was passed with a view to fix the wages of industrial workers and to allow the

workers to form trade unions.

2. M. Lokhande was a pioneer in organizing the labour movement in British India.
Which of the above statements is/are correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2
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Q3. Which of the following statements is/are correct about free trade agreements?

a) Free trade agreements only reduce tariffs on imported goods.

b) Free trade agreements increase barriers to trade between countries.

c) Free trade agreements reduce barriers to trade between countries.

d) Free trade agreements only apply to goods, not services.
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Q4. Which of the following countries are part of the Nordic region:

1. Denmark

2. Finland

3. Iceland

4. Norway and Sweden

5. Faroe Islands

6. Greenland.

Choose the correct option:

a) 1, 2 and 3 only

b) 1, 2, 3 and 4 only

c) 2, 3, 4, and 6 only

d) All of the above
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Q5. Consider the Following Statements:

1. Russia has fulfilled over 46% of India’s defence needs in the last five years.

2. America is one of the few countries with which India has a trade surplus.

Which of the above statements is/are Not correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2
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